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Document Summary:
It proposes an additional parameter called timeTick in subscribe() operation of Notification IRP.
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Other information:
See next page for a complete description of the proposal.

Background

Current Notification IRP: Information Service defines an operation called subscribe().   Actor invokes this operation to establish subscription to receive network events via Notifications.  While in subscription, System pushes events to Actor.  Actor does not need to pull for events.

System needs to allocate dedicated resource to push events to each Actor in subscription.  System releases the dedicated resource when it receives unsubscribe() operation from Actor.

Problem

If an Actor in subscription does not issue unsubscribe() operation before it exits, the dedicated resource allocated in System stays (i.e., remains allocated and wasted).

Proposal

Add an optional parameter called TimeTick in subscribe() operation. 

This parameter specifies the value of a timer hold by System for the subject Actor.  This value defines a time window within which Actor intends to invoke getSubscriptionStatus() operation.  System shall reset the timer, with TimeTick, when it receives the getSubscriptionStatus() operation from the subject Actor.  If the timer expires, System may delete its resources allocated to the Actor and consider Actor as if it has invoked unsubscribe operation.  In such case, Actor will not receive further Notification.  Actor needs to invoke subscribe operation again.

The value is in unit of minute.  If the parameter is absent or if it is present but its value is NULL, negative, 0 or greater than 15, System considers it as 15.
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